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‘GENERAL MATHEMATICS (GROUP-I)
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Note: You have four choices for each objective type question as A, B, C and DD. The choice which you think is correct,

Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbles. Cutting or filling two or
more bubbles will result in zero mark in that question. No credit will be awarded in case BUBBLES are not filled. Do not solve
questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -lﬁidly‘
(1) Ona crop produced on artificial resources, iy RAvAs ., J" SSezicfig (1)
Ushr is-deducted at the rate of:
A) % B 10% (C) 2.5% (D) 25%
(2) An instrument for payment order issued by a et ol Ses PSSR BB e PR AS G (2
bank on the request of its customer, is called: ' )
(A) Bill of exchange JK@:{% (B) Cheque & (©) Bank draft ik (D) Pay order /e
3) A machine installed by bank to dispense cash . c‘._dlk'/( 6‘,__(3 Jbif __m] Bt S0 (%)
to the customer, is called an:
(o)  Computer /‘.:‘;'/ (B) Scanner /‘r.f-/‘ (c) ATM ‘ril&,! (D) Card reader 458
“ The money that t.nilst be paid to the state charged S LB AUz ,,{;,4;&&,,72? ns (4
as proportion of income and profit added to the cost of Tof e )
some goods and services is called a: ‘ -0 e Bt e
(A) Tax ug (B) Excise duty é;jﬁ‘/’L{F (C) Property tax u’g il (D) Tncome tax ﬂ /!
() m 43, 3 iscalled: 3N ()
(A) Radical i (B) Radicand 4 (©) Integer wéﬂ (D) Natural number »>s(.5
6) In the logarithm of a number the integral part is called: ?wéfy?/éi’_.mﬁguffizﬁﬁwdf ©)
(A) Real part 4 (B) Decimal part .o,/ (C) Mantissa L (D) Characteristic -6
N Next term of 12, 16, 21, 27,— -~~~ is: ‘74‘—&?/&"&)’: 13,16, 31, 25— 0
(A) 34 (B) 30 (C) 31 D) 32
8 G.M between [ and 8 is: ?ey(b:d/’w.l{'/):ﬁ 8 1 ®)
&) 23 ® 123 © _2f3 ® 2
9 For any two sets A and B, AU B = BU A is called: .-c".,(:‘U-p(AUB =BUALLBu Ayuks %
(A) Commutative law Ji b (B) Associative law pitr et
(¢) De-Morgan’s law u.ﬁw‘fzku’ﬁ (p) Complement of two sets 2oy FUsess
(10) If R={(4,5),(54),(506),(6,4)} thenthe  j, R ={(4,5),(54),(56),(64)} /1 10
domain of (R) is: s (R)
A) {4, 6} (B) {4, 5} ©) {45 6; D) {5 6}
(D) PFor x=1i 2x+y==6,wehave y =72 y=led,x=142x+y=6 (11)
(A) -4 B) -8 € 4 D) 8
(12) >.(x; —X) =0 is one of the properties of: bbbl Z(x,-X)=0 (12
A) Mode »sb (B) Geometric Mean 13
«© Harmonic Mean  besiuf /4 (D) Arithmetic Mean  h-sidl>
(13) Profit % = ? where SP > CP e ed > 4f‘~=«‘..f'ﬁ§’frﬁb‘”ﬂ(j8; (13)
Gy Bt L (0 B i 2 5 x 100
CP sied Cp A b
: sy W 100 x SP 100 X Sad g b el
S e st =
© CRxbft  42irl © 190+ Profit % 100 + 3mm b o
100 100
14 1 . .- 1 (a
e 3 in term of percentage is: P I 3 a4
1
Ay 3% B) 1% (C) 33% D) 33 5%
(I1S) Inratio a:b, 'a' iscalled sy 'al dter’faib (19)
(A) Extréme dt:'rl (B) Antecedent b (C) Mean pi» (D) Consequent a4
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NOTE: Write same question number and its

parts number on answer book, as given in the question paper.

by SRl Al A 4 JEd 2

SECTION-1 Jit.o
2. Attempt any six parts. 12=2X%6 9% ..-pgrzl.mugg,éf LAy
O Write 2 percentage. AP lwedS 21 @
40 40
(ii) | Define compound proporﬁiin. ey /JJ ey (i)
(ili) | Find x in the proportion x:3:60:15 "{f’w*"ﬁ;x ox:3:60:15k (iii)
(iv) | Express 92% percentage as decimal, giving A 2 B S i S A 92% (iv)
answer correct to 3 places of decimal. v & ’ - i
../h://:..f’/
(v) | What is meant by Zakat? B Se sl o\l e ¥ W)
(vi) | Calculate Ushr on a wheat crop amounting to 2 3.50,000 hal N $eihibise Cisgs (vi)
Rs.3,50,000 produced by artificial resources. ¥ ' ‘ iy
Py
(vil) | Define Loss. S sy PSS (vii)
(viii) | Find the SP, when CP = Rs.12600, $%= o 12600 = /i S ptrassped | (Vi) i
loss = 5% T ) -
(ix) | Find the MP, when SP = Rs.858, o858 = s pd B dutts | (0 \l
discount = 12%. i - .
12% = & sf |
3. Attempt any six parts. 12=2 X &7 @yl:‘t&lzzug;._éf 3 AU
[ (i) | What is meant by Current Account? S P ais e s ®
(ii) | If the simple proﬁt on Rs.640 for 12 years is Bers 13;;‘4}%, whrd CJv 12,45,640 4Gy
Rs.384 then find the rate of profit. ¥ ) il ‘x
g dy S5O
(iii) | Define Incomi Tax. _ 7 Ly /JJUQ £ (111_)*
(iv) | Simplify /81 x /27 331 x Y27 £ | W)
(v) | Evaluate log200 + log> 10g200 + log5 - ZF W)
i 4 1/ 3 3/ 2 - i
(vi) Simplify 6x”7 x éxﬁy,/i 6x’7 x %x,%yA ‘6{/’; (vi)
(vii) | Write the first two terms. a,=n+3 a,=n+3-dei it | (Vi)
(viil) | If @, =2n—12, then find a, ) é{r; o P ey =3m=12.0 | Gl
(ix) | Define Arithmetic Mean. i ey St @ix)
J
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4. Attempt any six parts. 12=2X%6
| (i) [ Define sequence and give one example. oS L gEy P Ll ®
(i1) | Write the commutative property of union _ gi‘f VN (o PR (ii)
and intersection.
(iii) | Define Cartesian Plane. _E et (iii)
(iv) | Define Arithmetic mean. _E v S | V)
(V) | Find the A.M. between /7 and 347 -éfr_&fud‘fuyuiﬁ PENEIA.
(Vi) | Find first two terms @, = (=1)""'(n+3) a, = (D) (n+3) gt s, wdé | (VD)
(vii) | If A={1,4.7,8}, B={4,6,8,9}, C={3,4.57} | 4-(1,4,7,8}, B={4,6,8,9}, C={3,4,5,7}./1 | (viD)
then find AN (BN C) Lot AN (BAC) in
! (viii) | Convert 400Km into miles if 1mile = 1.6 Km. 2E6= 1B LSS K400 (viii)
| (ix) | Find the range for the set of data by writing 10,18,9, 6, 22 - é‘r b Sy oo §y | (%)
; | formula 10,18, 9, 6, 22 .

SECTION-II ¢».»

NOTE: Attempt any three questions.

24=8X3

i felzlatrf e §f 2od

5.(A) | Amna scored 46 out of 50 in a Math test, 64 BP0 A6 e 50 Lo S Fhsie T | (D5
out of 75 in a Chemistry test and 72 out of 80 |, ) o '/[
in a Physics test. In which subject did she A2 80 LUTF 64 < TS U
perform best? QW Wy At S L b
(B) | Calculate Zakat on gold of worth Rs.8,00,000, &3,4,00,000 ; S s, 8,00,000 Sl | (L)
cash of amount Rs.4,00,000 and silver of L N . ’
weight 50 tola (Rs.5000 per tola). -804 (J934-9,5000)07 S04t |
Z
6.(A) | If 15% discount on MP of a heater is allowed FEE Gral§erf 15% 1edtun, f 00| ()6 ‘
and still makes a profit of 2%. Ifit is sold on ’ o e op s o
MP, what is profit percentage? N ‘Ll pe bl et SISl T 00 2%
(B) | Find the compound profit of Rs.50,000 at 4% AL 1Y U fal 4% Lo 50,000 ()
for 1% years. - b ’
-G Ol ksl
7.(A) | The price of a bicycle is Rs.3500. If 16% sales L;Jﬁk’,ﬁ.-(_g_,,asoo eSS A | (LT
tax is charged, then calculate the amount of oo L
sales tax on 50 such bicycles. ~h{f__('_”’"f£,)”/4"‘~"{u’éwg 50 <19 16%
(B) | Show that 3log4+2log5— §10g64~ %logl6:2 3log4+2log5— -;—10g64— ;—logm:z-u:/»:f.t‘ (=)
8.(A) ! Find the 15th term of an A.P where the 3™ ,;7-5‘/,: 8 de/fﬁJ/r)"f“/wUJJ/“dz ()-8 |
term is 8 and the common difference is ] . .
3 =l b [
(B)Y | If 4={2,4,6}, B={3,6,9,12} and s B={3,6,9,12} A={2, 4)6}ﬁ £ )
C={4, 6, 8,10}, then verify that T
AUBUC) =(4UB)UC Jessltal={h6 & 1
AVBUC)=(4uB)uC
9.(A) | Draw the graphof y =x -1 - y=x—1 -t/ (.9
I (B) | Find the standard deviation of 2, 3, 6. 8, 11 _2:(':“‘_51;’16/(;»{ 2.3 6. 8 11| (L
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
Fill that bubbl® in front of that question number, on bubble sheet. Use marker or pen to fill the bubbles. Cutting or
filling two or more bubbles will result in zero mark in that question. No credit will be awarded in case BUBBLES are
not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

v
Q.No.1 1A
(1) 20% of 600 is: -;"_M.{' 20 K600 (1)
(A) 120 B) 12 (C) 20 (D) 200
(2)  Fraction form of 70% is: e SE 0% ()
@A) 7 3 Ao © % ®) -7
3) Zakat is deducted at the rate of: ¢ 4;,__3 eSS WG ()
(A) 2.5% (B) 3.5% (C)  4.5% D) 5.5%
@) I there only a single daughter then her share inherited property 1S ¢y oty nu’fu‘* Lol 3
/ , 1
@ Y ® % © Y o )
% The price‘tagged on a card of each and every article ) et 42 ﬁ(_; %Lf/ P ,L’H (%)
in a shop is denoted by:
(A) CP (B) SP (2] LP (D) MP
(6) A machine‘z installed by the bank to dispense cash to _ “._'G‘M‘%L’; JSisis JE? B ?Jgﬁ‘(,@gw £ (6)
customer is called:
(A) Computer 2o (3) Scanner /Jj (c) ATM (‘Jléz.l (p) Card reader k56
0 I_‘he person or entity whose insurance is being done - 4_/ ol SAHE 2L Ji s [T
is called the:
(A) Insurer .+ (B) Insured 551 (¢) Drawer .5 (D) Lessee (7
(8) The tax charged on all the taxable income is called: ek ng abld 4(3 ﬂu? otz Jg w (8
(A) Sales tax gﬁ‘ K (@) Direct tax JQ sz () Excise duty Syt (D) Income tax JC f
% In the logarithm of a number the integral part is called: WA I wlo ('EJ( 3E i ©)
(A) Characteristic -6 (B) Mantissa P () Decimal part .U 41 (D) Real part 4
(10)  Nextterm of 12,16, 21, 27,~ - —— s ?c‘,yfﬂﬁu:u,l@ 21,27,-—-—  (10)
(A) 30 (B) 31 (C) 34 (D) 32
(11)  G.M, between -3 and -12 is: ‘79&@/’(}/’0&//1£~12 I T 0L
(A) %3 (B) 6 (C) %9 (D) +36
(12)  1fU=(1,2,3,4}, A={4} then 4° =2 AC =2nd={4} . U={1,2,3,4} S (12)
(A) 1) (B) {1,2,3,4} ©) ¢ (D) 11,2,3}
(13) If A and B are two non-empty overlapping sets, (Overlapping) /1»»BaA g (13)
then ANB =7 .
ANB =7Uner
(A) Bn4 (B) 4nB C) BuA D) ¢
(14)  The co-ordinates of origin are: Sl edss Colae (14)
A (1,1) ®) (0,1) (€ (6,0) @ (L,0)
(15) 'Ihe score which occurs most often in a set of data I T ER EY S Py v radn (15)
is called: ‘
(A) Mean b (8) Mode b (¢) Median s (p) Geometric mean ki~

35(0bj)(7%)-2023(1%-A)-5000 (MULTAN)
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SUBJECTIVE 1. 60 = AJF

NOTE: Write same question number and its

—e{ys2 gﬁ,g@Qtff 3‘-:%2@1:,4? y 97) / dlrd‘u,(é K L}fﬁ,:.ﬁ«i

parts number on answer book, as given in the question paper.

SECTION-I s ol

2. Attempt any six parts. 12=2X6 _G;J/wa'YL’]’J;:—d/w2/d'}'
- (i) | Express the 75% as fractions in their simplest T - 2 fCB ST Sus T 9% (1)
form. - N
(ii) | If 82% of the houses have a television, what ol ulf;i;; LB ETuness Forus A 82% FARNCY,
percentage of the houses do not have ' .
television? Y. .. s |
(ili) ! Find the ratio of Rs. 160 per meter to Rs.150 w«,{./(:""wf o s K /_,/‘d&_’}/ 150 s t/de._,ul60 (iii)
; per meter. ‘
(iv) | Calculate Zakat on gold “arounting 1 - ' i ;,,J; ;—T;Jlﬂnd_vl] 10, 0&7?} Sir | , (iv)
Rs.11,10,000.
(v) | Define Inheritance. — T TN & v,ﬁaﬂ i Sl )
(Vi) i Define Propomon_ T ey };V: /)J;[_ «_(W_
(vii) | Define Loss. — @ o e /'Jul,a;‘ (vii) |
(i) | Find the SP, when CP = R5.950, Profit = 10% 10% = &ea 0950 = 2SI (St asped | ()
o e
(ix) Fipd the marked price, when SP = 515.20, 4051520 = ‘}/J g,vf(,};./b/“ib)/\/” (ix)
Discount = 8% .
‘ - 8% = w@ﬁ_m_ﬂj
3. Attempt any six parts. 12=2%6 - f wwélﬂic..éf_ /d!r
(i) | Define Current Account. - T S ikl S (i) '
" (ii) | Define Down Payment. T B S P S it (i1)
(iii) | Find the compound profit on Rs.54000 for e p 0 12% LTl 54000 (iii)
one year at 12% per anmu. i !
o o |
(iv) | Define Excise Duty. IS fu@ yS’/’LQ @iv)
" (v) | The annual value of a flat is Rs.14,00,000. 1 16% —eer 14,00,000 el _,:4, £l W
Find the property tax payuble at a rate of 16% P X S
i _g,{f/rf"’u“d/ JDIJW@C/J
(vi) | The radius of earth is 6400 km. Convert it into R SR e :F 6400 Sisbt | | (vi)
meters and write the solution in scientific ’ T )y
notation. -€ u:f L5 ‘ |
(vii) | Tf logx = 0.1597 then find the value of x. s (.,L-» 3l % du logwn=D0.1597.5 (vil)

J

(viii) '!_Find the value of

log22.13 + log0.354 + log7 - log3

_J/ryb/u; (Vi,i_i—)--:
log22.13 + 10g0.354 + log7 ~ log3

1 i

Simplify (*y*)2x (3"+%)?

.y 1 -1 (ix)
LA (@Y (Tx)?
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4. Attempt any six parts. 12=2X6 974 .:,yz[,lm,{c.éf 4y
(i) | Find next four terms of the given sequence: & =y Ag(f; S @) ;
-2,0,2,4,6,8,10, ~——~ |
. =2, 0,2, 4,6, 810, —~~ |
(i1) | Define Arithmetic sequence. Sest b ° (i) |
(ii)) | Find G.M. between 8y* and 2x”. -é:”rk’»:@/uynzi 8y* 2> (iii)
(iv) | Define into function. _Ew A A 1 V)
(V) |Find 4 if Sy 4 M)
U={1> 25 3: 45 5; 6) 7}7 A={39 4’ 5} U:{l, 2’ 3’ 4, 5’ 6’7}, A={3, 4, 5} \
(vi) | Represent A(6,-3) on graph. Gt S A6, -3) B (vi)
(vii) | Write two characteristics of Arithmetic mean. o/ F ks 2 Sl Bl (vii)
(viii) | Find Range 2, 9, 3, 6, 12, 8 2,9, 3,6, 12, 8 'J/f’b)‘-"’” (viii)
| () | Find Median 3, 5, 6, 8, 8,9, 10 3.5, 6,8, 8, 9, 10 etz | (X

NOTE: Attempt any three questions.

SECTION-II (9247

24=8X3

-5{4}:491:2[.:,0:,«&;@{ S

5(A)

Two angles in a triangle are 54° and 72°.
Find the ratio of the third angle to the sum
of the first two.

et aPulen Lok S §upind

Z:)JL“,JUK._/.:-UJ 72° 151 54° é.)i/'uufw..{l ¥ (-5

B)

Asghar left a property of worth Rs.4,80,000.
He left behind a widow, three sons and four
daughters. Calculate the share of each one.

& |

&1 -9 400 4,80,000 o e KI5
jﬁ.{l/;::.-u:)l,f(g -gj_i){u%/lgjjlé;uf roz}ug'
-u:/()”':‘,!l.p(

()

|

6.(A)

Distribute Rs.2,00,000 as a profit in a business
regarding three persons, if their shares are in
the ratio 3:2:5.

ur? LN T8 0 2,00,000 S UFIE
o 3:2:5 =ru

(-6

\

]

(B) | Mr. Ahmad Ali insured his house worth 4~cf? _5,75,00,000 ogaff/fé-li—d‘ﬂ/‘/ )
Rs.75,00,000 @2% for 4 years. Calculate the . . s Pl 'J ' ’
amount paid in 4 years, while the rate of S pted N W1t P 82% & Laude
depreciation is 10% yearly. ?J},;f)gfgfufdv 45 3ni10%0 7

7.(A) | The price of a tricycle is Rs.4000. If 16% WAA/“L,?/L/JI/L{IJ’I e i3 4000 = S L BiaL | (LT
sales tax is charged, then calculate the amount | o foer s JC . (10
of sales tax on 30 such tricycle. K ok di2 30 iz bYU* Kt d16%
e
(B) | Solve by using logarithmic table. _ZZJ’:.;AJJ:m(Z/() )
69.13 x 0.34 x 0.014 N ) '
69.13 x 0.34 x 0.014
(A . ’
8.(8) Insert two Geometric means between % -;{.Jy,g}/;)uynélé m% ()-8
and 16.

B) | If L={1,2,3} and M={2, 3, 4}, then write a L,,v’lbg/J(;'R;ML={l, 2,3} s M={2, 3,4}f, Gl i
binary relation R such that
R={(x,y)\xeL,ye MAay<x}. Alsowrite R={(x,y)/xeL, y € M'/\y s xS
Domain and Range R . ~HAEE S R .‘

9.(A)  Represent the points on the graph R - S (LIN-9
| 4(4,0), B(0,4),C(-4,0), D(0,-4) ) ’
A(4,0), B(0,4),C(-4,0), D(0, -4) I
1 |
(B) | Find the Median and Mode for the set of the -épl”ukuutb/;c’.éﬂfZL) o

values 4, 6, 7, 4, 8, 9, 7, 10.

4, 6,7, 4,89, 7, 10]

§
i

35-2023(1°-A)-5000 (MULTAN)



